A Hera® — (Hifd® - ug 9. 1432)
SCIENTIFIC ASSISTANT- [PHYSICS - POST NO.1432]

IUANT fhU SHaTe fRRRIST &1 AF: USTI ot Tfd = 3 x 108 m/s

Value of constants to be used : Speed of light = 3 x 108 m/s
wWie fATdie/Planck’s constant = 6.6x1073# J.s

O 3 et o | S etk R R A RS iR
Meta-centric height is given as the distance between
a. IS & Tod &g auT 3d &g
The center of gravity of the body and the metacenter
b. fiie & To@ Fg qU IT b
The center of gravity of the body and the center of buoyancy
c. fUs % are g Ul 3Mwd g
The center of pressure of the body and the metacenter
d. IS D TUT 3wTd b
Center of buoyancy and metacenter
2. frofafed & S &F o1 =ge vaTgaR SMeRUl &1 UeRH HRdl 82
Which of the following exhibits non-Newtonian flow behavior?
a. arg/Air
b. STe/Water
¢. Te/Gasoline
d. ¥ad/Blood
3. WIS & 39 yafarvl faqeit &1 919 Ia1=T g < hsed BR AR 3fiaie BT Aqd [T ATl

Name the Swedish Environmentalist who led the “Fridays for future” movement

a. Sferar fgas Julia Hill
b. Y=d ®rA/Rachel Carson

c. dRI FTg/Wangari Mathaai
d. %1 ¥=aT/Greta Thunberg



4, A F Gy A Fafafad ¥ § o a1 sl 82
Which of the following is TRUE regarding fluid viscosity?

a. %dl & {0 I8 AIumHE & T Fgdt 8

It increases with temperature for liquids
b. i & forT g% AU & WY Fedl §

It increases with temperature for gases
C. %dl & fory Ig a9 & Ty ued 8

It decreases with temperature for liquids
d. SwjEd ¥ ¥ us i 81/None of the above

The Carnot cycle is a rectangle in ?

a. P-V sm@/diagram
b. T-S sm@/diagram
P-H sm@/diagram

d. V-S 3m@/diagram
6. TIUl & A9 &1 gfHe?

The unit of measurement of entropy?

o

a. Sa/feanmadoule/kilogram
b. Sd/Joule
c. Sa/fmaumm/sicaoule/kilogram/Kelvin
d. S@/bfeadoule/Kelvin
7. 39 AR BT A Farsy fors i fodlt Afga &1 Gad ddl SidRe-3SH &1 HifaHM wiIfid fhar
Name the astronaut who set the record for longest spaceflight by a woman
a. ST diR/Jessica Meir
b. uwf fadew=/Peggy Whitson
foet1 BI/Christina Koch
. gfar faegwd/Sunita Williams

a o



8. 3l &, 5 . TSt qur 0.5 dt. A1 frelt AR &t a8t Fag 20C & audH R 1 a7 39 SR & $R-UR
FIR Y 150 W T SSAT1 g1 AT &1 STt § dl 3aRe SIaR & dgd &1 Udl st | SiaR &t Jraedt o
S Fradda 1 W/m.K gl
The external surface of a wall of 3 m high, 5 m wide and 0.5 m thickness is at a temperature of
20C. If a heat loss of 150 W from the room is measured across the wall, find the inner wall
temperature? The thermal conductivity of wall material is 1 W/m.K

a. 280K
b. 285K
c. 268K
d. 282K

9. 0.2 m? &7%d I gad el Tag &1 audME 17 deg C 71 Taifiie Tsbauil Icaol &mal & AR auteed
B GReb T DI
The temperature of a surface with 0.2 m? area is 17 deg C. Calculate the wavelength
corresponding to maximum monochromatic emissive power

a. 10 #rgshiHicy/micrometers
b. 20 \EHIHCY/micrometers
c. 30 "rsshiHlcy/micrometers
40 HZHIHE/micrometers

o

Critical temperature of water is

a. 245K
b. 647K
743 K
273.16 K

a o

11. a2019 ¥ fbw THens gfe THs o1 gAfafor far mar am
Which Sl unit standard was redefined in 2019?

a. UftRR/Ampere

b. feamm/Kilogram
c. dsarCandela

d. "ds/Second



12.

13.

14.

15.

g WS &1 TR P &1 WA AT STdl 82

Which mineral is commonly called as "Fool's gold"?

a. garge/Halite
b. RAER/Cinnabar

c. Herge/Magnetite

d. UIsRIge/Pyrite

RIS 3G RTeg &1 ot f5a uRee1 9 87

With which phenomenon is the term ultra violet catastrophe related?
a. W fafdbrurBlack Body radiation

b. ya difcri/Polar lights

C. 3fU-UdIUiF Ix@ul/Forward scattering alignment

d. argHSH Hue diftrai/Atmospheric Ghost lights

el B ID! TS B TR FIGhd BT TUH Tl DI UT?
Who was the first person to classify stars according to their brightness?

a. RETHw/Aristarchus
b. UIBYTRY/Pythagoras
C. HIRMFHH/Copernicus
d. feurea/Hipparchus

I AR fhare T A Ja1gU S 3fda: SIS iR F3 BIeIRIE & IS Ufdee BT R 1|
Name the famous book that ultimately led to widespread ban on DDT and many pesticides
a. grga-e fBiSilent Spring

b. f& T3 3ifw & &/ The Ends of the World

c. redol fg d=a/Salvage the bones

d. i fe afa/Storming the Wall



16. feOrgihads BT Taans gfie o1 37
What is the SI unit of radioactivity
a. Saxa/Becquerel
b. ¥=cT-/Roentgen
c. ®R/Curie

d. gM/Hahn

17. IR AMYRYD g 7 ¥ Jo Gl DI 91 32
Which is the strongest of the four fundamental forces?

a. faggd-daa ga/Electromagnetic Force
b. T¥dg s@/Gravitational Force

c. TMY® g sa@/Nuclear forces
d. durafe @/ Thermionic forces

18. 3Uqd® graM & SNfAHR e faam
Who invented the refracting telescope
a. TTeitferdl Teitell/Galileo Galilee
b. g feraR=I/Hans Lippershey
c. Sirgad aHik/Johannes Vermeer
d. 3irsd® g-/Isaac Newton
19. 8 HIGA TH-1h for] SUANT Jedt qUT IEHT & oI BT gt & HIYA 5 [T off Whall 5|
The measurement technique that can be used to measure the distance between earth and moon?
a. dfg de=/Lunar parallax.
b. dig ugur &1 wATthfd/Geometry of a lunar eclipse
c. adyTb aHi/Both aand b
d. 3w & ¥ U@ +f 61/None of the above



20. s AU &1 9H
The value of one AU

a. 1.495x10' m.
b. 1.495x10' km.

c. 1.495x10% m.
d. 1.495x108 km.

21. Tt foRiverfosan & T84 & a & 41U 5q Ugdd [T SiHaTal SUdHUl
Equipment used to measure the heat of combustion of a particular reaction.
a. 99 HeRrETdy/Bomb calorimeter
b. TR $AwUTLangmuir probes
C. UrsHTdl/Pyrometer
d. Swfed wfi/All of the above

22. XA & o1 Y UyH GRITYY Abe &1 Y S foar 71 412

When the first sounding rocket was launched from Thumba, Kerala?
a. 21 FdsR/November 1963
b. 23 FdsR/November 1961

. 23 Ada/November 1963
d. 21 9ds/November 1961

23. 99 A I 39 JU BT Sl 82
Find the odd man out ?
a. W. wq.Sit &, B9/Prof. M.G.K.Menon
b. . fdt=r ea/Prof. Nitish Dhawan

c. . Sft Are/as ArR/Dr. G.Madhavan Nair
d. 91. g, 3. @/Prof. U.R.Rao



24. WG Bl SgHI IR WS g Tgad fobar T b
The rocket that was used to send man to the moon?
a. 9T 5/Saturn 5
b. TIad/Atlas
c. Swi/Delta
d. Bes/Falcon

25. WA A B ..o o YT 81 a9 Ugadl g
Light from the Sun reaches us in nearly

a. 2 minutes
b. 4 minutes
c. 8 minutes
d. 16 minutes

26. fgfeiRad shel & 3§ fege! foar gamRett 781 82
Out of the following pairs, which one does not have identical dimension?

a. S@ YUl qUT T BT ATl

Moment of inertia and moment of a force
b. & quT §a 3o/ Work and Torque
C. IV HaTT qUT Wi fadics
Angular momentum and Planck’s constant
d. STaTT aUT HaT / Impulse and Momentum
27. Fgfafea & @ & ot 1ifae uftaedr Sxedy &1 SR g?
Rainbow is caused by which of the following physical phenomena ?
a. TauRun, srMadH T siidive wiad=/Diffusion, Refraction and Internal reflection
b. fawRor quT sruadH/Diffusion and Refraction
C. 3fUac adT 3ide WRiaa+/Refraction and Internal reflection
d. fawRoT @ siidfve wrad=/Diffusion and Internal reflection



28. SHAGRIBICH! BT TR UDHIOA ... gl
Inelastic scattering of photons by matter is

a. fe=sd yua/Tyndall Effect
b. M= YHTd/Raman Effect
C. UMY wHTa/ Thomson effect
d. S19-31gH yHTa/Bose-Einstein effect
29. UF qId &1 faeita g 1 82
What is the dimensional formula for surface tension?
a. MT?
b. MLT?
c. ML1T?
d. Sudad & 9 & +f T8l/None of the above

30. WM o1 YHrEH fobg A gRT fdar
The Mangalyaan was launched by which mission?

a. diuerdt i39/PSLV C39
b. digeTedt H25/PSLV C25
c. Siugudar d112/GSLV C12
d. Sfeguadt #1111 TH1/GSLY MK M1

31. IS faq ST &1 TWrad TR o Sfafes faumT gRT faqaifda 82

Autonomous Institute for Atmospheric Science Research funded by the Department of Space ?
a. TIURUA/NARL
b. T&diTe/SCL

C. TTITUNOAA
d. gRTEH/URSC


https://en.wikipedia.org/wiki/Atmospheric_Sciences
https://en.wikipedia.org/wiki/Department_of_Space

32. Fafafad 7 fead gfe o 98 Ad el 22
Which of the following is not a correct match of units?
a. ol/Energy — BTU
b. fafRry Seam &man/Specific heat capacity —m?/s2. K
c. S&ul/Energy — N.m
d. Tfde =aFarDynamic viscosity — m?/s

33. Fofafed & 3 oF a1 Faw 65 $OeT Hf $a IcTol &HdT B URUTST Gl 82
Which of the following defines the total emissive power of a black body?
a. 9o g/ Joule’s Law
b. fev@w aH/Kirchhoff’s Law

c. W dieormH fAgw/Stefan Boltzmann Law
d. 99 fFgA/Wien’s Law

34, HSRIG Uerif & STERUT H1 JUH HRA 8 U TATRIAID! 1 FAaH TR farat 82
How many minimum numbers of elastic constants are required to describe the behavior of
isotropic materials?

a. @/Two
b. @H/Three
c. gr/Five
d. ¥/Six

35. B0 0 TR 7d fhl) T8 39 TR IW@ 7T fHt DNbR We BT gHAH ‘M’ g1 39 TS 3R Io P oI BT g0y

S LI T gl
For a square block of mass ‘m’ kept on a rough wedge inclined at angle 0, the coefficient of

friction p between the block and wedge is given by?
a. sin 0
b. cos 6

Cc. tan 0
d. cot®



36. fgfoiaa & § forg siftreafad gRT <T° 3rafty & Ary 3ref-1Reg 31ef ‘a’ & fpelt wen® Ta @ pdi s &
o PR 1 da”r Faw fegr s &2

Kepler’s third law for a body moving in an orbit of semi-major axis ‘a’ with period ‘T’ is given
by which of the following expressions?
a. T?aqad
b. T3 aa?
c. TV g a8

d. T2 o 31/3

37. 13.2 x 10° ) Suif & god TP Wi &1 3MgRY quT axvTeed BT Ual TRMZT | YT &1 i = 3 x 108 m/s
3R @i i = 6.6x107%* J.s &1 ITANT |
Find the frequency and wavelength of a photon with energy 13.2 x 10°° J. Use speed of light =
3 x 108 m/s and Planck’s constant = 6.6x107% J.s

a. 2 THz, 150 nm
b. 2 PHz, 150 nm
c. 2000 GHz, 15 nm
d. Sudad & 9 & +f 8l/None of the above
38. AR forg fd TR geadt &t 3R 7 gt A R o1 & 3 T bl AT ¥ fore Faffaa ® @ few Rygid &1 Suam
fopar ST 82

Which of the following principles is used to measure the speed at which distant stars are
moving towards or away from earth?

a. Ui &1 ¥a fAgw/Rayleigh Law of scattering

b. =g & TIfd Fa@Newton’s Laws of motion
C. PR & Teid T Fm/Kepler’s laws of planetary motion
d. STeR gyta/Doppler effect

10



39. fgfafea & ¥ &H e guf wu I e uerd & ufded-fasfa sma &1 gafan quf srarg?

Which of the following best describes the stress-strain diagram of a perfectly plastic material?

a. YRR Ufdad & forg faepfa sfer &b TR & e wa
Straight line parallel to strain axis for a non-zero stress
b. YRR fapia & forw ufdae sre & TR o el v
Straight line parallel to stress axis for a non-zero strain
. W& Ul & YA gaH Afod T foig & T1eqd I el v
Straight line through origin with slope equal to Young’s modulus
d. Iwjad & 9w it T

None of the above

40. fordlt 9 UR ST 9, THY t, G X TUT AT v & SUR, Fofafad Jey grr fear m 8:
Force on an object is given in terms of time t, distance x and velocity v by the following

relation:

— C
F=axt+ vbvr +

d+ov
a, b, ¢ 74T d & g F1-a1 82 (T <o fos it +ifores ammt S1 gfel # 8 1)

What are the units of a, b, c and d? (Consider all physical quantities are in Sl units.)
a. kg/s®, kg?/m? kg.m?/s, m/s

b. kg?/s®, kg.s/m? kg.m/s3, m?/s

c. kg.m/s%, kg/m? kg.m?/s2, m/s

d. kg/s?, kg®/m,kg.m?/s, m?/s

41, GBI P AT TR SAGCTN BT O oo F =0 H a1
Emission of electrons upon incidence of light is termed as:
a. Sd-dieds uutd/Joule-Kelvin effect
b. fe=gd wura/Tyndall effect
C. UHTRIdggd UHTd/Photoelectric effect
d. ¥ wHTa/ Thomson effect

11



43.

44,

. TR URT oo & SrguIfas g1 (T auHH g1)

Thermionic current is proportional to (T is the temperature)

a. T?
b. T
C. T1/2

d. T3/2

A T f5 10 qUT €0 GaaaT=T 1 gadhRitadr aul fagga=ied 81 ar 1/(n0e0) &t fammg ...
gl

Let n0 and €0 be the permeability and permittivity in free space. Then, dimensions of 1/(n0€0)
is

a. L2T?
b. T?/L?
c. T/IL
d T

fdt YeR & Pr 39 ¥ER ¥ & R WR faU 77U fordll e 9@ 39 Y8R & S1PRME! §RT Iyfd a3
Ufaeafies UreR 81 51 98 A& XSR U GR ST € T Precevvoooeeeeee % STIR HH g S|

In a radar, Pr is the returned echo power detected by the receiver of a radar from a given target
at a range R from the radar. When the target moves away from the radar, Pr will decrease by :

a.R
b. R?
c.R®
d. R*

The solar constant is approximately

a. 1922 W m?
b. 1368 W m™
C. 344 W m™
d. 242 W m™

12



46. TE R gad Y J IR W $U1 & SHE Y {3807 BT JdToH D WPERD ... F YR R faar
S AHAT g
Deflection from the vertical of a freely falling particle on Earth can be satisfactorily explained
on the basis of

a. T¥a/Gravity
b. SIR3iTerT s@/Coriolis force

c. dad1a ga/Magnetic force
d. d&ia ga/Central force

47. TS 9T A’ uRARISII e o gl
A vector ‘A’ is solenoidal if its

a. 3BT TR YA/Divergence is zero

b. 3T Yqurdl =/Gradient is zero

C. IUPT UIRU YAd/Divergence is non-zero
d. 39! gaurar Far/Gradient is non-zero

48. 39 Afew & fQEOE (M) M ... gl
The eigen values of the matrix are
1 0 0
0 1 1
0 1 1
a. 1,1,2
b. 0,1,2
c. 2,20
d. 2,2,0

13



49, BN F AR BT TH BRI ... gl
The main cause for seasons to occur is:

a. g ¥ Sferd fafeRor # anftfes e

annual changes in the radiation emitted from the sun
b. &t T & STIAR Yedt b Y=IhUT 318f BT FebTd

tilt of the earth’s spin axis with respect to orbital plane
c. T iR gedt & o9 1 gt & uRad

change in the sun-earth distance

d. gHAIHSH NSl AT H uRadH

change in stratospheric 0zone amount

50. foreht sRifier & fe URT & Seal Uit &1 SUTNT fban ST € oY e argsag fufaal & sref arex siaw
B TS TTHT oo il

If water is used instead of mercury in a barometer, the approximate height of water column
under standard atmospheric conditions will be:

a. 76 ¥4 /cm
b. 7.6 9.5t /cm

c. 1000 @ #H/cm
d. 10,000 .7t /cm

51. ARG PIS T SHUARIA BIel § dl 3D ol Pl T BIell 82
If a wave undergoes refraction, what happens to its phase?
a. 180 f& &1 waiar g/a phase change of 180 deg will occur
b. 270 f&t &1 HaiaR g/a phase change of 270 deg will occur
C. P18 HaR el gi/No phase change will occur
d. 90 f&3 &1 Haier ghT/a phase change of 90 deg will occur

14



52.

53.

54.

frat ot SR o1 fifs oia faym &t fufa 7 § O 39 uds oy &) <arg 151, |1 o« Jg fis 0.6¢

A cubical shape body with 1m length on each side when it is at rest, moves with a velocity 0.6¢
(c=velocity of light) along x - direction. The dimensions of the body noted by an observer on
ground will be (x:y:z):

a. 0.8:1:1

b. 0.6:1:1

0.4:0.6:1

d. 0.4:1:.0.6

o

5 Bl fog & ol TR 9 SR 1 3R 8 M. $ S % SH@ieR U H U ordl 8| 39 [BERR W urt
BT BN
Water leaps vertically upwards to a height of 8 m from a fountain of 5 mm orifice. Speed of
water at the orifice end is:

a. 12.52 m/s
b. 8.42mi/s
2.50 m/s

d. 0.5mf/s

o

Weber/m? ..., & RER |
Weber/m? is equal to

a. gRyHenry
b. ¢/ Tesla
c. diee/Volt

d. Jd/Joule

15



55.

S7.

SHATH qUT die &Y E= argaE ¥ 70 K de iaferd fear Siar g o ufariy

Germanium and Copper are cooled to 70 K from room temperature, then resistance of

a. di9 &1 dgdl ¢ 91d fob STHIH &1 uedl §

Copper increases while that of Germanium decreases
b. S T gedI® o fb S BT Sgar e

Copper decreases while that of Germanium increases
C. i &1 Uedl g/Both decreases
d. <l 1 ¢ar g/Both increases

a. dr/red
b. ST violet
c. Atar/blue

d. 83/green

150 HY. FaTE B BIg YA 10 m/s Fi Tfd T IR 31 femn & o1 @ 81 T Fifga 5 m/s o 7fa I 39
Tt & gHiaR # efdor fann § I @ B1 39 AW #Y UR A oq 39 fufea gry fmn war g9y

A train of 150 m length is going towards north direction at a speed of 10 m/s. A bird flies at a
speed of 5 m/s towards south direction parallel to the railway track. The time taken by the bird
to cross the train is equal to

a. 8Uds/sec
b. 30 Vb s/sec
c. 12 ¥dveg/sec
d. 10 ¥dv/sec

16



58.

60.

61.

e iy arg & ATegH F I & 99 arg & Bl
When sound travels through air, the air particles -
a. TUI-GRO F o & Ha g &
vibrate along the direction of wave propagation
b. Hfd g T, Ao foreht frara form & =1t
vibrate but not in any fixed direction
C. TII-ERU &1 e & daad HiUd el o
vibrate perpendicular to the direction of wave propagation
d. &fd e g

do not vibrate

In radio waves, VHF band is

a. 30-300 kHz
b. 300-3000 kHz
c. 3-30 MHz
d. 30-300 MHz

Dimension of light year is

a. T
b. LT
c.L
d.T!

The hottest planet in our solar system is:

a. g4/Mercury
b. Ydh/Venus
c. Hd/Mars
d. T2/ Jupiter

17



63.

64.

65.

Emissivity of a body will be

a. UM U W 3if¥av/always greater than 1
b. 0 @Y7 1 & de/between 0 and 1

c. 0 9 ®H/less than 0

d. 89 0.5 ¥ HH/always less than 0.5

Melting point of ice:

a. a1 & ¢ & °1Y gedl o/Increases with increase in pressure

b. S % g1 & 1Y gedl 8/Decreases with increases in pressure
C. &I§ IR 313 =181 Xgar/Does not depend upon pressure
d. <19 & T & Y URH H 9gdT § 3R 39 9l vedl &

Initially increases and then decreases with increase in pressure

WL ‘m’ 94T JHS fd9ed o ¥ gad U JrEg faavor & fig, m+o & 36 & $far Qi fdearor asb &
ST TUTST & oo g

For a normal distribution having a mean value of ‘m’ and standard deviation of o, the
fractional area under the normal distribution curve within the range of m+c is:

a. 50%
b. 100%
c. 33%
d. 68%

300 nm R aTet U1 § wie forfam & foprford fomam o @ a iR sdaeil @ i Sl 2.95
x 1010 )31 R ST SR B ... gl

When Lithium is irradiated with light of wavelength 300 nm, the kinetic energy of ejected
electrons is 2.95 x 107%° J. The work function of Lithium is

a. 453x102°)
b. 3.67x10%°J
c. 3.61x1078)
d. 2.95x 101

18



66.

67.

68.

7 R {6 T Ue Saa-fRae van & el & 0.28 . 9% que far T sk WH &1 1.4 W g W
1 1| ety < bt au A e b & ot @Y gt 1.2 A B 1 39 vanT B uged b T UebTe B
TRITEGE o gl

In a Young’s double-slit experiment, the slits are separated by 0.28 mm and the screen is
placed 1.4 m away. The distance between the central bright fringe and the fourth bright fringe
is 1.2 cm. The wavelength of light used in the experiment is:

a. 522 nm
b. 600 nm
c. 488 nm
d. 700 nm

el 3a o &t ag A Widd gt 20 V.. §1 A9 U IY-Fid & SUdcID HHRT: 1.33 3R 1.5 7
Iuad ITA A BT A H BIHA G oo gl

A convex lens has 20 cm focal length in air. Refractive index of air-water and air-glass are 1.33
and 1.5 respectively. Focal length of the above convex lens in water is:

a. 42.1 94t /cm
b. 54.6 9.1d/cm
78.2 9.4t /cm
d. 102.4 3 /cm

e frdt ga P A ChSI H AST A AN B ChS B al YA gld & | TWYT HTAHE ... BT
If a magnet is broken into two pieces, each piece possesses two poles. The strength of the new
pole is:

134

a. g9 99% & Ydi & qred & wEF/same as the poles of original magnet

b. I @ & gal & T &1 3nehalf of the poles of original magnet

C. A 99 o Ydi & arad &1 giArdouble of poles of original magnet

d. 9 99% & ydi & 9 &1 Th-fagrs/one third of poles of original magnet

19



69. IR A=zi+xj+yk &1 &

Curl of the vector A=zi+xj+yk is:

a. itj+k
b. i+j-k

c. ijk

d. —i-j+k

70. fg-omem yomel HHBAM 12T oo & TUH forar Sran g

In the Binary system, the number 12 is written as

a.
b.
C.
d.

1011
1101
1010
1100

71 i, SR g B URTY &1 Ul IR 3HTebed fobar 71 o
The circumference of the earth was first estimated by

a. 31gqd ge/Isaac Newton

b. TTefiferal/Galileo

. WIerYHT/Eratosthenes

d. HIRMAHA/Copernicus

72. fgfafed & @ &F 91 HRU GHAIHST & T a8 RR BH &1 91d &1 TP Hal 87

Which of the following reasons explain why the stratosphere is absolutely stable?
a. a1g & A R fd g 8/Air temperatures are too cold
b. a1g &1 &1 3AAfIH HH gidl g/Air pressure is too low
¢. IS gRT fafamur SHeif &1 s@=iwun The absorption of radiant energy by ozone
d. gad @1 7Ifa 3raferes a1 8/The wind speed is too strong

20



73. TTH YD ST YU BT 61 82
Find the odd one out
a. Was/Skylab
b. WgS/Soyuz

. gcge/Salyut
d. feammw/Tiangong

o

74. 39 T 3fdlRe TOIE BT A FART S 39 BeRH & v fafdy I9 td bR @1 siaRker ISHI aur
Sfafkerar Jah Hrfmat & fou STRard |
Russian space agency responsible for the wide range and types of space
flights and cosmonautics programs for the Federation.

a. YD IHA/R0OSCOSMOS
b. SIeITe®T TAfsrar/Cosmonautica Energiya
C. U9 Ut HRIda WY </SP Korolev Space Centre

d. =4 siaiver Gira/Russian Space Organisation

75. 98 el @afag dF, foreia 20 B, 1919 & UG & SR fad 7T Vot gRT muféresdr o gfY &t
&P
Which English astronomer provided confirmation of relativity, through observations during
the Solar eclipse of 29 May 1919?

a. Te SRBIS/Ermnest Rutherford
b. S S YI¥=/J] Thompson

c. MR TfgTmevArthur Eddington
d. JI\9 wrwre/Thomas Stafford

76. WM SIUTT BTHAM oo gl
The value of golden ratio is ?

a. 1.713
b. 1.639

1.618
1.789

o o

21


https://en.wikipedia.org/wiki/Space_science
https://en.wikipedia.org/wiki/Space_science
https://en.wikipedia.org/wiki/List_of_space_agencies
https://en.wikipedia.org/wiki/Russian_Federation

77. Fofafed ag som § 9 fede! T gead $ifis 82

Which of the following air masses is the most dense?

a. ®fidTd 98/Cold and moist
b. =fid wd grah/Cold and dry
C. IWrud TH/Warm and moist
d. 3w Td §&h/Warm and dry

78. UR URAR BT TI TETTE ..o gl
The densest planet of the solar system is
a. QAH/Uranus
b. gealEarth
c. T®Aupiter

d. g¥/Mercury

79. feh ufaredt e S99 # {59 YR & Aiordt &1 JudiT faar S 82
The type of nozzle used in a typical rocket engine is ?

a. SfERl/Convergent

b. SUERYDivergent

c. SR $URl/Convergent Divergent
d. SEAR/Cylindrical

80. I Rigidl & WHBRT & 1T seuadia thies favg-axg JuR & gq FafifEd 4 2 fag
e ITR BT IUANT fordT o el 52
Which of the following softwares can be used to generate interactive animated contents to
explain scientific principles?

a. Tsig ywa=/Adobe flash
b. TSI§ wierid/Adobe Photoshop

c. HEHmNUe Ug</Microsoft Paint
d. ®Ra H1gl ACorel Quattro Pro
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